Parsons YNU, 2022-2023

Simple Numerical Example of J-Curve

Suppose Japan was Exporting S5 billion worth of CARS every month.
Also, suppose Japan was Importing $6 billion of OIL per month.

In dollar terms, Japan would have a trade deficit, X-M = $5-56 = - 51 billion per month.

Usually, for the J-curve, we view the trade balance in the home currency, in this case, Japanese yen.

Suppose the XR is initially 100 yen = $1.

Then, in yen terms, the Exports (X) would be 100 yen times $5 or + ¥500 (billion).
Imports, in yen terms, would be 100 times $6, or - ¥600 (billion).

So, initially, Japan has a trade deficit of ¥500 - ¥600, or - ¥100 billion.

Now, assume the yen depreciates to 150 yen to S1.

Also assume, immediately, (in the first few months...in the short run), export quantity and import
guantities do not change. In other words, Americans buy as many Japanese cars as before...Japan still
needs the same amount of oil for its cars, factories and heating in the winter...so demand for oil in Japan
does not fall right away.

So, now, Exports, IN YEN terms are: 150 times 5, or + ¥750 billion.

So, now, Imports, IN YEN terms are: 150 times 6, or - ¥900 billion.

The new trade deficit has WORSENED.
It is now, X-M= 750 — 900 = -¥150 billion.

This is the first part of the “J-Curve effect”. In the short run, the trade balance worsens.

In the long-run (maybe one or two years)...

The yen is CHEAP, so Americans buy more Japanese cars...



So, now Exports of cars goes up to S8 (billion) of Japanese cars.

And oil is really expensive (like now!, in 2023), so the Japanese save energy, drive less, become more
efficient, use more solar energy, etc...So, M falls from $6 to $4 dollars.

What is this trade balance in YEN terms?
X=150 times 8= + ¥1,200 (billion)

M= 150 times 4= (-) ¥ 600 (billion).

1200- 600 = + ¥600 (billion).

Following a depreciation of the yen, Japan has gone from a worsening of the trade deficit in the SR, to
a trade surplus in the LR.

That’s the J-curve effect.

J-Curve O fifj B 7o U

HA2ZHEH sofE N v oo BEEZiHH L Cnwi-e 35,
T7-. HAZHH 0B N VoA MERIAL CTnizE 35,
FaAfaE+ 2L, HRIZBAX-M=50EFNL—60EFL=—10EFLDESHRTFL %5,

HE, V=7 Tk, BN HEHEE (Zo8&IFHAN) cRaceicks,
W), XR2S100 =1 FATHo72¢ T3,

595 L, MHfaE cligH (X) 1250 Ko 100 5. 2% b +5,000 (ZM,
AT EC, 60fE F LD 100 5. 2% W —6000 &M & 72 %,
2% 0, 4. HAIZ 5000 EM—6,000EMN. 2% b —1,000 EHOEZRF &5,

ST 1 Fa=150 HEFTHLIC o2 L X D,



e, 3 (REIOEy AF - - - IR | WHECWMARREDL LWL TS, O
E0. T AV ANELATEFEC XS ICHAEZH S L HARRHEZD S FHBHEC THP L DR
BIREUCEOAMEZSE L T2 . 16 HATOAMTRRTI T CIKFMo v n) T L,

2% 0, A, fEHIE. B -CIE 150 X50 T. +7,500 &,
TlE, WAIZE v &, M T 150X 60= —9,000 &,

FLWEZRTFIYYEL (E, K& 25)
HE, X—M=7,500—9,000= —1,500 [ZTH 5,
I N AH—TE] ORVIOFYTH 5, HMHWICIZ. EFDNKIFENLT 5,

FEVWHTRANE 1 F2D224E2)

MigLwnrb, TAXVAANT oL HAEEZE S ..,

Z <, HEIE (HAHE) ofitix, 80 M ricng 3,

ZLT, AlHEAKICEH DT (HSHh7z0ic 12023 ) . HAANFZ AV F—ZHif L, Hig
REEZ. XOMENICARY, KB ALF—%2 5T 5, 20, MIZ60fEFLA5 40
ErricEs 5,

ZOEGIIE, FHBRE T LICh37E59 57
X =150 X 80= +12,000({& )

M =150 X 40 = (—)6,000(f& )

12,000 —6,000= +6,000 (f&[)

HZICEy, HEILSR TEBRFPLGBNEL, IR TEZEFIC & o7,
:ﬂj—‘“] ﬁ'—'7“ﬁ%‘(54§ 50



